October 11, 2022

NTIAL ¢
Deewanwves ofF {xpazf‘ AL & s
|m fucrh)-Fo0) X X

t6) = e” 0 JJZ e =€

&:, e”:’:e" £= 6X1++x

Y X h X () = et”:.(:axﬂ\
o € .61: =~ Poy= e
O € (™ 1) Piye ¥ €l + 27 2y
- . - axe™ [ox*+ 1)

h
et (515 = e
h — A

= €




October 11, 2022

9 h
ety = X Fnd dy.
ebgi j’é cmﬁv
gt d~
dy _ |
:&‘Q%e




October 11, 2022

-a” %’Zi iaxzj”“'ax
g y=2 olx :
!%g--:)(- a (#: 7§MXI
smX
_J_d = ‘= n -7 P eos A
% d_g'(( /?na g = J /
d _ .,Qn&
P/ S |\ S

£
-P(X,)T' 7+M = x° Xt
e~ Junx "€ -7x — € - sec X
—/unzx

) Seax 2 axfnx=Se %
= /Qn_?’l ‘Cx o0t X




October 11, 2022

Cﬁanzﬁa of Buse Formula
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Additional Examples

1/In 3 is a constant number. Leave out front
Change log x to In and do product rule on remainder.
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Additional Examples
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